

04/05/2025 07:00 PM | Drive + Sleep 04/06/2025 05:00 AM | Install 04/06/2025 04:00 PM | Event SET 04/07/2025 06:00 AM | Strike ballroom 04/07/2025 06:00 AM | Strike Brunch 04/07/2025 08:00 PM | Flip Brunch PO: Shipping Address: Grand Del Mar 5300 Grand Del Mar Ct, San Diego, CA 92130 Butterfly Floral & Event Design 2861 W Pico Blvd Los Angeles, CA 90006

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
Cocktail Hour		. ,			
	Garden Bars - Jardin Du Champ Elysees - Hedge Round 6 Pc Set	1	\$4,500.00	Т	\$4,500.0
	16'Diam x 43"H				
	Barback - Boston - Round W/ Plexiglass Tier Shelves	1	\$350.00	Т	\$350.0
	4'2"D x 7'2"H - Color Upon Request				
	Bars - Chicago - Wood 12'	2	\$1,050.00	Т	\$2,100.00
	paint color TBD, add hedge in the center, move to brunch on Monday,				
	25"W x 12'L x 42"H - Color Change Upon Request				
	Barback - Tokyo - Straight Basic 6' X 8'h - Metal	4	\$330.00	Т	\$1,320.00
	6'W x 18"D x 8'H				
	Stand Up Tables - Panama - White Wash	5	\$300.00	Т	\$1,500.0
	36" Diam x 42"H				
		Total Cocktail Hour		our	\$9,770.0
Tunnel Into Ball	room				
	Barback - Santorini - Large Floating Shelves W/ Inserts - 8'h	6	\$300.00	T	\$1,800.00
	painted high gloss gold				
	5'W x 18"L x 8'H - Custom Frame Color Upon Request - Shelves Inserts Available				
	Tunnel 60'L x 10'W x 10'H	1	\$7,500.00	Т	\$7,500.00
	60' x 10' custom black lycra ceiling, 320' x 12'H black stretch velvet fabric & pullbacks, pipe & base, sand bags, string lights rigged from pipe and base, send extra sandbags				
		Total Tunnel Into Ballroom		om	\$9,300.00
Reception					
	Perimeter Draping - Stretch Velvet Black Fabric	1	\$16,400.00	Т	\$16,400.00
	approx 600' x 24'H, pipe and base, sandbags				
	Valance In Stock	1	\$3,100.00	Т	\$3,100.00

Description		Qtty	Price		Total
	Custom Truss Covers - Black Scuba Lycra With Velcro 6-16'H, 3-24', 2-42'	1	\$4,300.00	T	\$4,300.00
	Chandeliers - Vienna - Black 68" 68"W X 83"H - 210lb - 1,500 Watts	1	\$1,100.00	Т	\$1,100.00
	Chandeliers - Vienna - Black 48" 48"W X 57"H - 100lb - 750 Watts	4	\$950.00	Т	\$3,800.00
	Chandeliers - Vienna - Black 44" 44"W x 47"H - 95lb - 750 Watts	4	\$950.00	Т	\$3,800.00
	Bars - New York - Folding 8' paint tbd, custom decal front and side printing 8'W x 30"L x 42"H - Color Change Upon Request	6	\$1,100.00	Т	\$6,600.00
	Bars - New York - Folding 6' paint tbd, custom decal front and side printing 6'W x 31"L x 42"H - Color Change Upon Request	2	\$1,000.00	Т	\$2,000.00
	Barback - Swivel Wood & Gold Plexi 48"W x 24" x 12'H	4	\$700.00	Т	\$2,800.00
	Dining Table - Moscow - Rectangle Round Base black top, gold base high gloss 8'W x 4'L x 31"H	8	\$600.00	T	\$4,800.00
	Dining Table - Las Vegas - Colored Top & Base 6'x40" top and base wrapped with hunter green velvet fabric 6'W x 40"L x 30"H - Custom Top & Base Color Upon Request	1	\$650.00	Т	\$650.00
	Dining Chairs - Nice - Gold Frame per floor plan, 8 chairs short on rectangular tables 18"W x 24"L x 37"H - Back & Seat Cushion Cover Color Upon Request	216	\$24.00	Т	\$5,184.00
A	Dining Chairs - Nantucket - Tufted Black W/ Nailhead Trim 20"W x 22"L x 38"H	200	\$22.00	Т	\$4,400.00
	Dj Booths - New York  DJ Booth - New York - Emerald Green Channeled Velvet  on wheels, gold frame, emerald green channeled  30"W x 4"L x 42"H - Color Upon Request	1	\$600.00	T	\$600.00
			Total Reception		\$59,534.00
TBD Items					
	Dining Chairs - Aspen - White Wash W/ Oatmeal Linen reuse for brunch, \$24 each 18"X 21" X 32"H	383	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Panels - Ribbed Arches 12'h stage backdrop, paint color TBD, \$850 each 4'W x 20"D x 12'H - 6' Riser Available	7	\$0.00	Т	\$0.00
	New Panels For Perimeter Of Room price mix of custom & stock, \$1,200 each	18	\$0.00	T	\$0.00
	Dining Table - Moscow - Round Gold Base 72" black top, gold base high gloss, \$600 each 72" Rnd x 30" H (8) 66" Rnd x 30" H (10) 60" Rnd x 30" H (3)	16	\$0.00	Т	\$0.00
P	Dining Chairs - Washington - Gold/blush black cushions, black cushions in stock, \$24 each chair 19"W x 23"L x 37"H	90	\$0.00	Т	\$0.00
Pi	Dining Chairs - Washington - Gold/champagne need to make more black cushions for this one, only white, chamapgne and blush in stock, \$38 each chair 19"W x 23"L x 37"H	124	\$0.00	Т	\$0.00
	Dining Chairs - Florence - White & Wood Frame other options - \$22 each 20.5"W x 21.5"L x 40"H	225	\$0.00	Т	\$0.00
P	Dining Chairs - Versailles - Cane Back other options - \$22 each 20"W x 24"L x 39"H	188	\$0.00	Т	\$0.00
P	Dining Chairs - Lyon - W/ Wood Frame other options - \$22 each 20.5"W x 24.5"L x 39"H	183	\$0.00	Т	\$0.00
			Total TBD Items		\$0.00
Pullsheet			Total Pullsheet		\$0.00
Services			Total Pullsi	ieet	\$0.00
	Saturday - Crew Half Day - Drive to San Diego	14	\$300.00		\$4,200.00
	Sunday - Install & Flip includes double time cost for all day install & flip	14	\$850.00		\$11,900.00
	Monday - Strike Ballroom & Brunch + Drive Back To	14	\$700.00		\$9,800.00
	Trucking + Gas Surcharge to San Diego	7	\$600.00		\$4,200.00
	Hotel Rooms For Crew - 7 rooms, 2 nights Price Is estimated, final price to be calculated at time of booking. Need payment from client to book asap	1	\$3,000.00		\$3,000.00
	Per Diems	14	\$216.00		\$3,024.00
	Mock Up Presentation	1	\$800.00		\$800.00
	Manager Fees: On site management, production, meetings, etc.	1	\$1,300.00		\$1,300.00

Description	Qtty	Price	Total
Hotel Room Provided on Site For Designer By Client 1 room, 2 nights	1	\$0.00	\$0.00
Please make checks payable to Revelry, Inc.		Total Products:	\$78,604.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		bor/Services/Misc: ear & Tear (4.00%): Packing (2.00%):	\$38,224.00 \$3,144.16 \$1,572.08
		Taxes : Discounts: Total: Payments:	\$7,467.38 (\$0.00) \$129,011.62 (\$1,500.00)
		Balance:	\$127,511.62